algebra moduie 1 frame A-1 7

This assignment is to be completed and submirted with full solutions when reporting to
write the Module Test.

1. Apply the rules of exponents to simplify the following:
a) —(-2x)° b) —(20t)*

(P+ Q)°

16x* 2x3y 4} 8 d
c) x*(2x%y*) ) P+ Q3P -q)

2. Write each of the following in a radical form:
a) (3 by 8x3*

c) x1/4y-1/5 d) ((xz + 1)1/2]11'3
e) (pws + Q)-uz

3. Express each of the following in exponent form.

J1zy al27(x - 8)°
a) #6 b) (y + 2)5
c) Ex° d) M_
WA
4.  Simpiify.
a)  150x - /54x + / 294X by A/2 +B/yB8-C/50

5. For each of the following fractional terms, muitiply the numerator and denominator
by the conjugate of the denominator, and simplify.

a) LY py B8R
STy - 2 1 - /R
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Simplify with no negative exponents.

a)  (15x%%)(30y*2) b) -5PQ’(3Q%P2%S3
¢)  YAEP - 3x + 1) d  (15x%3 + 30y*z)exdy)

e) (3t- 1@t - 5t + 11) e 28 - 6(-3C + 2)

3
g) (2a - 3b)4ab + 3b%) h) TA"'!}%
77y

4x> - 8x2y2 + 3xy3

24xy2
Simplify.
a) (3 + 4x - 2)+(x + 2) b) (8 -2% + x)+(x + 1)
2
g OR -Z—fRR— 4

Factor the following where possible.

a) x> — 6x + 2x° b) 7x3(y + 1)2 - 2x4(y + 1)2
c) B -—7x+4 d) 8 + 31xy — 4y°

e) 5 —2x — 1 ) 4C + 48xy — 112y°

a) 614["2 - o

Rewrite and simplify where possible by factoring (- 12?.

) H o - (: +-:»:;2

c) X —43)(! ; 4y2 .
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10.  Supply the missing terms so that the fractions are equivalent.

a) 4x + 1 = ? b) 2 = ?
2x? 6x3—-8x2 Yy~ Xx x2-y2
c) 3 - ?
XY=y oyl -y
1. Reduce to lowest terms. _
3 4
-5 2x - 2
a) ugyz | R
o 159y° 4 5y _ d) 5m?> — 5
20xy2 ' 3m? - ’m + 4
o) 6x° — 4x — 2
27x® + 18x2 1 ax
12.  Simplify.
a) 3x3(4x + 3y2)2 + x5(4x + 3y2)
4x + 3y2

b) 5Bx~ 1)%4 4 p5zy _ 1)1/
10(3x — 1)3/2

13.  Simplify. .
g [252 - ) [4xz - 3 by |27P°R® - 3R?) [1spR - sg
16x%z - 9z 5% + y 3P2 _ 2p _ g 3P + 1

0 f64r2—16” F- 1 ]

‘2r2-3r+1 2r2+3r+1
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14.

15.

16.
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Combine and simplify.
al  ox t+3x

x—-2_5
xy ¥

3
c) = o+
X2

6 18 2
b) x+ 1 7T==7*1T5x
d) S 2x 4 S _
X +4x+3 x+1 x

Simplify the folloWing complex fractions.

RZ - (2

o LBrn

Xy

3—--—-—
b) 2 _ v

l’ﬂ

d)
6mk?

k2 - 4

The following expression arises in differential calculus:

)=

a) Simplify this complex fraction.

b) Determine the value of the simplified expression when h = 0.

assignment

Q‘:“t*‘?_

5x
+ 3
Yok ™
|
: F



